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Section II
[TO BE ATTACHED TO THE MAIN ANSWER-BOOK]
UG CBCSS INTERNAL EXAMINATION, MAY 2024

DO NOT WRITE YOUR REGISTER NUMBER OR NAME ANYWHERE IN SECTION II OF THE
QUESTION PAPER

Answer all questions.
All questions carry equal weight.

Put a tick mark [vV] in the column against the correct answer.

1. How many Sonnets are written by Shakespeare ?

(A) 154. (B) 38.

(C) 12. (D) 4.

2. Among the following, who is an African poet ?

(A) David Malouf. (B) Robert Frost.

(C) Gabriel Okara. (D) Bertrand Russell.

-~

3. What is the reason for the poet to say ‘Something there is that doesn’t love a wall’

(A) The neighbour doesn’t like a wall.

(B) The ground swells naturally and makes gaps in the wall.

(C) The poet doesn’t like a wall.

(D) The hunters too do not like a wall.

4. Who is the ‘angel of two geometries’ ?

(A) Bicycle. (B) Chair.

(C) Mirror. (D) Bookcase.
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5. Why does Malouf see a deity in the bicycle ?

(A) The bicycle outmatches man in efficiency and performance

(B) The shape reminds the poet of a deity
(C) Man gives too much importance to machines.
(D) The bicycle has the appearance of a deity.
6. What, according to Russell, is the first mistake of human beings ?
(A) Their beings dogmatic.
(B) Their inability to observe.
(C) Their lack of acurence of their own ignorance.

(D) Their inability to be cautious.

7. The only way of dealing with general human conceit is ?
(A) By concealing self-esteem.
(B) Being rational in one’s through.
(C) By creating a belief in something comferting.

(D) Accepting that man is only a brief episode on this planet.
8. One way to avoid being dogmatic is ?

(A) To remain silent when you disagree.
(B) To engage in an imaginary dialogue with opposite view.
(C) To agree with the acceptable opinion.

(D) To agree and convince all.
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9. Women’s voice in contemporary Indian public life can be strengthened by ?

(A) Allevication of economic poetry.

(B) Broadening the social coverage that is now confined to the urban elite.

(C) Removing disparties in public life.

(D) Increassing the politicization of issues.

10. The mother fainted while watching the cinema why ?

(A) The realistic portrayal was unbearable to her.

(B) Her husband talked to the wife on the screen.

(C) Her husband sat absorbed in a newspaper.

(D) The picture fascinated her.

11. What was the exemplary filial behavior displayed by Rakesh ?

(A) He topped the list when the results were out.

(B) He bowed down and touched his father’s feet when topped the list.

(C) He scanned the morning newspaper to see the result.

(D) He went up to his father and informed him the result.

12. How did Rakesh fulfil his duty to his father ?

(A) He took his father in the car to see his new clinic.

(B) He emerged as an excellent doctor.

(C) He measured out his father’s diet and fed him with powders and pills.

(D) He advised his fathers to be sensible.
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13. Who is the author of the story ‘two gentleman of Verona’ ?

(A) R.K Narayan. (B) Jawaharlal Nehru.

(C) AnitaDesai. (D) A.J Cronin.

14. Which among these is the work of R.k Narayan ?

(A) A shadow. (B) Two gentleman of Verona.

(C) The lottery ticket. (D) Bores.

15. Who is the main character in the story ‘The Lottery Ticket’ ?

(A) Ivan Dmitritch. (B) Sambhu.

(C) Varma. (D) Bhatia.

16. We have failed to protect ...who does Nehru refer to here ?

(A) The Indian people.

(B) The greatest treasure that we passed.

(C) The common clay.

(D) The geratmen.

17. Sahmbu’s mother didn’t come to see the movie at first because ?

(A) She couldn’t bear to see her husband on the screen.

(B) She didn’t like her husband.

(C) She did not like to watch movie.

(D) None of the above.
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18. Jacopo and Nicola worked very hard for ?

(A) Toemigrate to America.
(B) Totreat their sick sister.
(C) To lead a happy life.

(D) To save for better life.

19. In trust with density Amartya Sen refers to ?
(A) About the suffering of Indians.
(B) The historic speech delivered by Jawaharlal Nehru.
(C) Prose-Drama.

(D) About typing with density.

20. He is not a man of ‘common clay’ -Who ?
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(A) Jawaharlal Nehru. (B) Indira Gandhi.
(C) Gandhiji. (D) Rakesh.
No. of MCQs attempted Weight Scored
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